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Find and correct the errors in the following mathematical statements.

1. 4x-5)=4x-5

Solution:
4(x-5)=4x-20#4x-5=RHS

The correct statement is 4(x - 5)= 4x — 20
2. X(3x +2)=3x%+2

Solution:

LHS = x(3x + 2) = 3x? +2x # 3x2 + 2 = RHS

The correct solution is x(3x + 2) = 3x? + 2x
3. 2x + 3y =5xy

Solution:

LHS=2x+3y#R.H. S

The correct statementis2x+3y=2x+3y
4. X+ 2X + 3x = 5X

Solution:

LHS = x + 2x + 3x =6x # RHS

The correct statement is x + 2x + 3x = 6X
5. by +2y+y—-7y =0

Solution:

LHS =5y +2y+y—-7y =y #RHS

The correct statementis 5y + 2y +y -7y =y
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6. 3x + 2x = 5x?

Solution:
LHS = 3x + 2x = 5x # RHS

The correct statement is 3x + 2x = 5x
7. 2X)2+4(2x)+7=2x>+8x+7
Solution:
LHS = (2X)2 + 4(2x) + 7 = 4x? + 8x + 7 # RHS
The correct statement is (2x) 2 + 4(2x) + 7 = 4x°+ 8x + 7
8. (2x)?+5x =4x + 5x = 9x
Solution:
LHS = (2x)? + 5x = 4x2 + 5x # 9x = RHS
The correct statement is (2x) 2 + 5x = 4x? + 5x
9. 3x+2)?2=3x>+6x+4
Solution:
LHS = (3x+2)2=(3x)?+22+2x2x3x=9x?+4 + 12x # RHS
The correct statement is (3x + 2)2 = 9x? + 4 + 12x
10. Substituting x ==3in
(@) x?+5x +4 gives (-3)2+5(-3)+4=9+2+4=15
(b) x2=5x + 4 gives (—3)?-5(-3)+4=9-15+4=-2
(c) x2+5x gives (-3)2+5(-3)=-9-15=-24

Solution:
(a) Substituting x = — 3 in x? + 5x + 4, we have

X2 +5x+4=(-3)2+5(-3)+4=9-15+4=-2. This is the correct answer.
(b) Substituting x = — 3 in x> —5x + 4
x2—5x+4=(—3)2-5(-3)+4=9+15+ 4 =28. This is the correct answer
(c) Substituting x = — 3 in x2 + 5x

x2+5x =(-=3)2+5(-3) =9 - 15 = -6. This is the correct answer
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11.(y—-3)’=y?-9

Solution:

LHS = (y — 3)?, which is similar to (a — b)? identity, where (a —b)2 = a? + b? - 2ab.
(y—32=y?+(3)2-2yx3=y2+9 -6y #y?—9=RHS

The correct statement is (y — 3)> = y2 + 9 — 6y

12. (z+5)?2=22+25

Solution:

LHS = (z + 5) 2, which is similar to (a — b)? identity, where (a + b) %2 = a? + b? + 2ab.
(z+5)2=22+52+2x5xz2=2722+25+10z # z?>+25=RHS
The correct statement is (z + 5)2 = z? + 25 + 10z

13. (2a + 3b) (a — b) = 2a? - 3b?

Solution:

LHS = (2a + 3b) (a—b) = 2a (a—b) + 3b (a — b)

= 2a? — 2ab + 3ab — 3b?

=2a’ + ab - 3b?

# 2a’ — 3b? = RHS

The correct statement is (2a + 3b) (a — b) = 2a? + ab — 3b?
14. (a+4)(@a+2)=a’+38

Solution:

LHS=(a+4)(a+2)=a(a+2)+4(@+2)
=a’+2a+4a+8

=a’+6a+8

#a?+ 8 =RHS

The correct statementis (a+4) (a+2)=a?+6a+8
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15.(a-4)(a-2)=a’-8
Solution:

LHS=(a-4)(@a-2)=a(@a-2)-4 (a-2)
=a?-2a—-4a+8

—a’-6a+8

#a?-8 = RHS

The correct statementis (a—4) (a—2)=a’—6a + 8

2
16.3%

3x2

Solution:

3 2
LHS === = 1 #0 = RHS
3x2
. 3x2
The correct statement is 2 =1

3x2+1

17. > = 1 +1=2
3x
Solution:
3x2+1  3x2 1 1
LHS = =—+— =1+— #2=RHS
3x2 3x2 = 3x2 3x2
. 3x%+41 1
The correct statement is =1+—
3x2 3x2
3x __l
T 3x+2 2
Solution:
LHS = == # 1/2 = RHS
3x+2
The correct statement is x _ 3%
3x+2 3x+2
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19. ==
4x+3 4x
Solution:
LHS = —— # —
4x+3 4x

The correct statement is —— =

20 4x+5 -5
4x

Solution:
5
LHS = ax+

The correct statement is

7x+5 _
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3
4x+3 4x+3

:4x/4x+5/4x:1+% +5=RHS

4x+5
R — ::|_+i
4x

21. p X
Solution:
7 5 7
LHs = 2% :7x/5+5/5:?"+ 1+ 7x = RHS
p 5
The correct statement is 7xT+ = 7?x + 1
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